

Find:

$$\Omega = \lim_{n \rightarrow \infty} \left(n \int_0^1 \frac{x^n \exp(x^2)}{1 + x^{2n}} dx \right)$$

Proposed by Daniel Sitaru – Romania

Solution 1 by Hikmat Mammadov-Azerbaijan

$$\begin{aligned} \Omega &= \lim_{n \rightarrow \infty} \left(n \int_0^1 \frac{x^n \exp(x^2)}{1 + x^{2n}} dx \right) \\ \int_0^1 \frac{x^n \exp(x^2)}{1 + x^{2n}} dx &= \int_0^1 x^n \exp(x^2) \sum_k^{\infty} (-1)^k x^{2nk} dx = \sum_{k=0}^{\infty} (-1)^k \int_0^1 \exp(x^2) x^{n(2k+1)} dx \\ &= \int_0^1 \exp(x^2) x^{n(2n+1)} dx = \\ &= \frac{\exp(x^2) x^{n(2k+1)+1}}{n(2k+1)+1} \Big|_0^1 - \frac{2}{n(2k+1)+1} \int_0^1 \exp(x^2) x^{n(2k+1)+2} dx \\ &= \frac{\exp(1)}{n(2k+1)+1} - \frac{2}{n(2k+1)+1} \int_0^1 \exp(x^2) x^{n(2k+1)+2} dx \\ \lim_{n \rightarrow \infty} n \sum_{k=0}^{\infty} (-1)^k \frac{\exp(1)}{n(2k+1)+1} &= \lim_{n \rightarrow \infty} \sum_{k=0}^{\infty} (-1)^k \frac{\exp(1) \cdot n}{n(2k+1)+1} = \\ &= \sum_{k=0}^{\infty} (-1)^k \lim_{n \rightarrow \infty} \frac{n \cdot \exp(1)}{n(2k+1)+1} = \\ &= \sum_{k=0}^{\infty} (-1)^k \frac{\exp(1)}{2k+1} = \exp(1) \sum_{k=0}^{\infty} \frac{(-1)^k}{2k+1} = \exp(1) \frac{\pi}{4} = e \frac{\pi}{4} \end{aligned}$$

For another case: $\lim_{n \rightarrow \infty} n \sum_{k=0}^{\infty} (-1)^k \frac{2}{n(2k+1)+1} \int_0^1 \exp(x^2) x^{n(2k+1)+2} dx$

$$= \sum_{k=0}^{\infty} (-1)^k \lim_{n \rightarrow \infty} \frac{2n}{n(2k+1)+1} \cdot \lim_{n \rightarrow \infty} \int_0^1 \exp(x^2) x^{n(2k+1)+2} dx = 0$$

So we get:

$$\int_0^1 \frac{x^n \exp(x^2)}{1 + x^{2n}} dx = e \frac{\pi}{4}$$

Solution 2 by Exodo Halcalias-Angola

$$\begin{aligned}
 \lim_{n \rightarrow \infty} \left(n \int_0^1 \frac{x^n \exp(x^2)}{1 + x^{2n}} dx \right) &= \lim_{n \rightarrow \infty} \left(\sum_{k=0}^{\infty} \frac{1}{k!} \int_0^1 \frac{y^{\frac{2k}{n} + \frac{1}{n}}}{1 + y^2} dy \right) = \\
 &= \lim_{n \rightarrow \infty} \left(\sum_{k \in \mathbb{N}} \frac{1}{k!} \left(\sum_{j \in \mathbb{N}^*} (-1)^{j-1} \int_0^1 y^{2j-2 + \frac{2k}{n} + \frac{1}{n}} dy \right) \right) = \\
 &= \lim_{n \rightarrow \infty} \left(\sum_{k \in \mathbb{N}} \frac{1}{k!} \left(\sum_{j \in \mathbb{N}^*} \frac{(-1)^{j-1}}{2j-1 + \frac{2k}{n} + \frac{1}{n}} \right) \right) = \sum_{k \in \mathbb{N}} \frac{1}{k!} \left(\sum_{j \in \mathbb{N}^*} \frac{(-1)^{j-1}}{2j-1} \right) = \\
 &= e \int_0^1 \frac{1}{1 + y^2} dy = e \int_0^1 d \tan^{-1}(y) = \frac{\pi e}{4} \\
 \therefore \lim_{n \rightarrow \infty} \left(n \int_0^1 \frac{x^n \exp(x^2)}{1 + x^{2n}} dx \right) &= \frac{\pi e}{4}
 \end{aligned}$$